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( ) State with reason whether the following stat 
a ernents 

are true or false : 

(i) The rule of estoppel applies to a n.. 
•olnor. 

(ii) Counter offer and offer are one and the 

same thing. 

(iii) The effect on coilateral transaction in case 

of illegal agreements and void agreements 

are the same. (9) 

(b) A minor on attaining majority accepts the contracts · 

made during minority, thereby making them valid. 

Comment. (6) 

(OR) 

(a) Critically comment on the following : 

(i) Consideration is not needed in promise to 

pay a time barred debt. 

(ii) A deceit which does not deceive 1s no 

fraud. 
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(iii) Coercion and Undue Influence are one ao<l 

the same thing. 
(9) 

(b) A trade combination when cartels are formed by 

manufacturers not to sell the product below a 

certain minimum price, is a void contract. Explain 

other situations which are discussed under the 

same section. (6) 

(iii) ~ ij+i~Jj ~ ~ ij+i~Ji ~ ~ ~- (1q1fflt1cfi 

~'1~'1 w ~ 'ij1IFf mm t1 

(~) *~~ m 1R ~ 3ii:f~~ 3i~Cf~~a, cfi GRFf ~ lfq 

• qi) ~cfil{ ~ mu t, ~ ~ -au m ljf@ t, 

fecqJn cfil~~ I 
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(m) 

( i) ft'1qcsflft@" ~ cflT ~Jk11-1 ~ ~ cfR ~ ~ 

cfit 3ilq:fqcfial ~ t1 

(ii) ~ ~ ~ cfTT tiRcrr ~ ~, qg tmcrr 1'tt 

t1 
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2. (a) ex plain discharge of a contract by supervening 

impossibi lity. 
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(b) Differentiate between Particular lien and General 

Lien. Who all are entitled to this right. 

(c) Write a note on Quantum Meruit as remedy for 

breach of contract. (15) 

(OR) 

(a) Strikes, lockouts and civil disturbances are valid 

reasons for discharge of a contract. 

(b) Anish finds a necklace lying on the staircase .He 

picks it up. What is his position. What type of 

contract is it. Explain its rights and duties. 

( c) Differentiate between Indemnity and guarantee 

contracts. (15) 

(cn) ~ cfil" f:i,m4l qiNi ~ ~ ~ f:icf5-1 ~ 

a.m.~ I cfi) ~ ~ I 

(~) ~ ~ ~ ~1'11"4 ~ ~ ~ ~ 
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3. (a) What implied conditions are there in sale by 

sample? Is there any implied condition in a contract 

of sale as to fitness of goods for buyer's purpose. 

(b) Discuss the rules relating to delivery of wrong 

quantity or quality of goods in a contract of sale. 
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(c) Anil buys goods by on approva] when wil1 

ownership of goods pass. (15) 

(OR) 

(a) Discuss the right of resa]e of an unpaid se11er 

against the goods. 

(b) What is the importance of time of transfer of 

ownership in a contract of sa]e. 

( c) A orders 200 tins of fruit Juice packed in cases 

containing 20 tins per case. If 5 cases get 

destroyed, what is the effect on the contract. 

(15) 

("cfi") ~am~~~~~ t? ~ ~ cfi ~ 

~ <q~~R cfi * cfi m lTTR cfil J9ScHa1 cfi ~ 

~ m ~ ~ t? 
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(11) ~ .:Hj.n~..:, rt 3TTtTR 1:1( ~ ~ t, "ffi ~ 
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(11) ~ 200 ~ ~ cfi "ffl cfil ~ ~ ~ ~ ~ cfiT 
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4. (a) Differentiate between Limited Liability partnership 

and traditional partnership. 

(b) Who can and who cannot be a designated partner 

in an LLP? What role does designated Partner 

play in LLP. 
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( c) How can an existing partner cease to be a partner? 

(OR) 

(a) Discuss the steps in online incorporation of LLP. 

(b) Discuss how a traditional partnership can be 

converted in to LLP. 

(c) Write a note on: 

(i) Former Partner and 

(ii) Whistle Blower (15) 

(cfi) ~ ~ ~l~~I~ ~ q1{qf{q; ~l~~I~ ~ ~ 3l& 

cfil~~' 

(\Cf) ~H~c-t9' ~ ~ -1ffe@ ~"ITT~ t ~ cfit, ~? 

~H~c-t<ll ~ -1ffe@ \ilffl~R ctt ~ ~ t? 
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(m) 
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~Rq~ I 

5. (a) Infonnation and Technology Act is non applicable 

to which contracts. Enumerate. 

(b) Write a short note on : 

(i) Digital Signatures 

(ii) Electronic Signatures 

(c) Difference between private key and public key 
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(OR) 

(a) What is the objective of Information and 

Technology Act? 

(b) Write a short note on powers of certifying 

authorities. 

(c) Write a short note on Tampering with Computer 

Source Documents. (15) 

(cfl) ~ ~ ~,u)fl,ct) ~ ~ ~ lR ~ ~ 

t, ~ chlRt<o 

(~) (i) fgRlc:c-1 6tffieR (ii) ~c-lcts_rP!ch ~ lR ~ 

m~ f2cqJil f'Hf<cf(? I 

(m) 

P.T. O 



3012 12 

("f<I) 11~1•1'1 ~ <t) ~l~<if 'ff 1l<fi ~ ~ 

f"Hf{q~ I 

(ll) lfiUJ_c".< a@ ~~1,\iifl' ,il- <IN 'iJ~i§~ 'ff 1l<li ~ ~ 

f"Hf{q~ I 

(1 000) 



I 

I 
I 
I 

(0 
@¥ I 

[This quest' . . · ] 
ion paper contains 24 prmted pages . 

Your Roll 

_Sr• No. of Question Paper : 14 0 3 

N 
... 0 •••••• 

Unique Paper Code 

Name of the Paper 

Name of the Course 

Semester 

2412082302 

Financial Management 

B.Com. (H) - UGCF 

III [December 2023] 

G 

. .. . . . 

Duration : 3 Hours Maxi mum Marks : 90 

I · Instructions for Candidates 

1. Write your Roll No. on the top immediately on receipt 

of this question paper. 

2. This paper consists of 5 questions. 

3. Attempt all questions. · 

4. All questions carry equal marks. 

5. Use of a simple calculator allowed. 

6. Answers may be written either in English or Hindi. 
' 

but the same medium should be used throughout the 

paper. 

P.r.o. 



1403 2 

l. ~~-~~~ tt~~~~~-q"{ ~ 
,j1 jc;ti '11 ch ~ Rel Q I 

3. ~~~~~I 

4. ~~~3lcfi~t, 

5. "fflURUT ~~<=fi~C:{ 3qin•I ~ ~ ! I 

6. ~~-~cfil~ ~-qr~~~ \lfqf~· ~mtQ, i;ll4i91 
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1. (a) Explain the concept of profit maximisation and 

wealth maximisation. Which one of these is a 

better operational guide for finance manager? 

(6) 

(b) Determine the weighted average cost of capital 

using: 

(i) Book value weights, and 

(ii) Marke t v a 1 u e weights based on t b e 

following information : 
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Book value structure 
Debentures t l 00 er Debenture 

f 
8 00 000 

Preference shares t I 00 er share 
E ui shares t I O er share 

2 00 000 
10 00 000 
20,00,000. 

Recent market price of all these securities are: 
Debentures tl IO per debenture, Preference shares 
t 120 per share and Equity shares t22 per share. 

External Financing opportunities are : 

(i) tlOO per debenture redeemable at par, IO­
year maturity 13% coupon rate, 4% 

Flotation cost and sale price tl 00. 

(ii) tl 00 per Preference share redeemable at 
par I 0-year maturity 14% dividend rate, 
5% flotation cost and sale price tl 00. 

(iii) Equity shares t2 per share flotation costs 

and sale price t22. 

Dividend expected on equity shares at the end of 
the year is t2 per share, anticipated growth rate 
in dividend is 7%, the company pays all its earnings 
in "the form of dividends , corporate tax rate is 

30%. 02) 

P.T .O. 
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Or 

(a) Explain how the scope of finance function has 

changed over time. What role does the finance 

manager play in a modern firm? (6) 

(b) The following is the capital structure of XYZ Ltd. 

Sources Amount(t) Specific c/c (cost of 
capital) 

Equity share capital (2,00,000 20,00,000 11% 
shares of ~ l 0 each) 
Preference share capital 5,00,000 8% 
(50,000 shares of~ 10 each) 
Retained earnin.gs 10,00 000 11% 
7.5% Debenture oft 1000 each 15,00,000 4.5% 

Presently the debentures are being traded at 94%, 

Preference shares at par and Equity shares at 

~13 per share. Find out the weighted average cost 
of capital based on Book value weights and market 

value weights. (12) 

2. (a) "Trading on equity is resorted to with a view to 

decrease EPS." Comment on the statement. 

(6) 

(b) X Ltd. is considering replacing a machine having 

the written down value of tl ,60,000 and it will be 

fully depreciated at the end of 2 year. Th e 
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remaining economic Jife of the machine is 4 years 

aft er which it will have no sal vage va lue. But if 

. . ooo 
It is so]d today, it has a salvage value oft 1 ,20, · 

It will generate revenue of tS ,20 ,000 per annum 

for 4 years and incur expenses of t3 ,80,000 per 

annum. It can be replaced by a new machine 

costing t4,80,000. The new machine will generate 

revenue of t9,20,000 per annum and incur annua] 

expenses of tS ,80,000. Additional working capita] 

of t2,00,000 wiJJ be required if the new machine 

is bought. Depreciation on the new machine wiJ1 

be charged at the rate of t80,000 per a11num to 

make its book va]ue equal to its salvage value of 

t 1,60,000 at the end of 4th year. Tax rate of the 

company is 30%. Advise the company if the cost 

of capita] is 15%. (12) 

Year 1 2 3 4 

PVFat 0.870 0.756 0.658 0.572 

15% 

Or 

(a) "Cash flows of different periods in absolute terms 

are incomparable." Explain the reasons and how 

they can be made comparable? ( 6) 

P.T.o 
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(b) Y Ltd. is considering an investment proposal 

requiring initial investment of t50,000. 

The corporate tax rate is 3 5% and the company 

uses Straight Line Method ·of depreciation. The 

estimated profit before depreciation and taxes from 

the investment proposals are as follows : 

Year PBDT PVF lOo/e PVF llo/e PVF 12o/e 
l. 11 000 0.909 0,901 · 0.893 

2. 20000 0.826 0.812 0.797 
3. 18 000 0.751 0.731 0.712 
4. 15,000 0.683 0.659 0.636 

5. 12,000 0.621 0.593 0.567 

Calculate: 

(i) ARR 

(ii) NPV at 10% discount rate 

(iii) IRR (12) 

3. ( a) "The payback period is more a method of liquidity 

rather than profitability". Examine the statement 

· explaining payback period method of capital 

budgeting. (6) 
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· about 

(b) The following information is provided to you 

PQR Ltd . : 

Earnings of the firm 

No . of equity shares 

Amount of dividend paid 

Return on equity 

Cost of Equity 

t36,00,000 . 

3,00,000 

fl 8,00,000 

15% 

10% 

(i) Calculate the present price of the share 

and the value of the firm using Walter's 

Model. 

(ii) Is this the optimum pay-out ratio? What is 

the value of the firm at the optimum pay­

out ratio? 

(iii) What should be the payout ratio if the firm 

wants to keep its share price at t 160? 

(iv) When will the firm be indifferent about 

dividend payment? (12) 

Or 

(a) Why do we focus on cash flows rather than 

. on profits while evaluating capital budgeting 

decisions? (6) 

P.T.O. 
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(b) Aakarshan Textiles currently has outstanding 

1,00,000 shares selling @f 100 each. The firm is 

contemplating the declaration of dividend of t8 

per share at the end of the current fiscal year 

that has just started. The firm's opportunity cost 

of capital is I 0%. Given the assumptions of M-M 

approach, answer the following questions: 

(i) What will be the price of the share at the 

end of the year if (i ) dividend is not 

declared, (ii) dividend is declared? 

(ii) If the firm has net profits of tl0 ,00,000 

and makes new investments of t20 ,00,000 

during the period, how many new shares 

must be issued -in both the situations? 

(12) 

4. (a) How does Gordon ' s Model differ from Walter 's 

Model to relevance of dividends? Discuss their 

similarities. (6) 

(b) X Ltd. is considering changing its present 

credit policy. The ~etails of the options are given 

below: 
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Credit Polic Present A B 
Sales 50,000 56000 60 ooo 

V ariab]e cost 40,000 44,800 48,000 

80% t 
Fixed cost t 16 000 16;000 16 ooo 

Average col1e.ction 30 45 60 

eriod da s 

. . unent is 
Advise the best option if the rate of inves 
20%. (12) 

Or 

(a) Write short notes on: 
(3><2) 

(i) Stock-Split 

(ii) Scrip- Dividend 

(b) The production of a company during the year 2023 

was 5,00,000 units. The same level of activity is 

expected to be maintained during the year 2024. 

The expected ratios .of cost of selling price are : 

Raw materials: 4.0%, direct wages 20%, overheads 

20% 

The raw materials ordinarily remain in a store for 

three months before production and the production 

P .T.O. 

Z.iliiiJ I iT 



1403 
10 

remains in process for two months and is ass umed 

to be consisting of 100% raw materials, wages 

and overheads. Finished goods remain in the 

warehouse for three months . Credit aJiowed by 

creditors is four months from the date of the 

delivery of raw material and credit given to debtors 

is three months from the date of the dispatch. 

The estimated balance of cash to be held is 

t 1,00,000. Lag in the payment of wages and 

expenses is half month. 

Selling price is t8 per unit. 

You are required to make a provision of I 0% for 

contingency ( except cash). ( 12) 

5. (a) Discuss the consequences of lengthening and 

shortening of credit period by firm. (6) 

(b) Discuss . various approaches for financing the 

working capital requirements. (6) 

( c) What do you mean by operating cycle? Why is it 

important in assessing the working capita l 

requirements of a firm? (6) 
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Or 

LMS Ltd provides the following details : (1 S) 

Installed Capacity I 50 000 Units 
' ' 

Actual production and sales 1,00,000 Units 

Selling price per unit 

Variable cost per unit 

Fixed cost 

Funds required 

Capital Structure 
A 

Equity shares oft 60% 

I 00 each to be 
issued at 25% 
premium 
15% Debt 40% 

10% Preference NIL 

shares of t 100 

each 

tl 

t0.50 

t38,000 

tl ,00,000 

Financial Plans 
B 

40% 

60% 
NIL 

Assume Income Tax rate is 30% 

C 
35% 

50% 
15% 

(i) Degree of Operating Leverage, Financial 

Leverage and Combined Leverage for each plan. 

P .T.O. 
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(ii) The indifference-point between plan A and 

B. 

(iii) The Financial break-even point for each 

plan. 

Suggest which plan has been more financial risk? 

(6) 

(~) f4~~f{qa cfiT 3qtn•1 ~ ~ ~ 'fflffl ~ ~ 

~ ctl~~: 

~ ~ ~~e-11 f 

~i~~ (~ 100 ~ f3i~~) 8,00,000 

~ ~~ (~ 100 ~ ~AA) 2,00,000 

~~qt! ~'l<R (~ 1 o ~ ~AA) 10,00,000 

20,00,000 
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~~ ~ q;f~cfilaffijl'R~~~t: 

fg~'-q( ~110 ~ ~~--q(, ~ ~ ~120 ~ j)7.f{ ~ 
~fclqt) ~ ~22 ~ ~, 

~ ~ ~ ~1001 

(ii) tl00 ~ ~ ~ 10 ~ ct, -qRqctqaT 14% 

~ ~, 5% 4fq-1:Jn~a1 c-fT1@ ~ ~ ~ 

(iii) ~fctqt) ~ t2 ~ ~ 4tq-1:/n("ktl 1-ITT@ 3ITT: 

- ~~ t22 ti 

qtf cfi" 3ffi ~ ~fctqtl ~ "q( ~ ctr JNtl<: ~2 ~ 

~ t, ~ ~ ~~l~la ~ ~ 7% t, cfi·q4t ~ 

cfi" ~ ~ ~ "ffltt ~ cfiT 'j,1a1-1 ~ t, ~,~c: 
(12) 

P.T.O. 
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(<fi) ~ cfil~~ fct ~ ~ ~ fc@ ~ ~ ~ ~ 

lTT{clfad s3U t1 ~ ~ ~ ~ fcffi ~ cfQT 

\Wlcfil~t? c-. • ( 6) 

ma Cij_~~ l~I (t) -~,u11a 
$~cit! ~m 'F"' (t;t~cf, ~ ·1 o 

20,00,000 
t 2,00,000 ~'tm) 

11% 

~ ~n:R" 'F"' (~ 10 

~ * 50,000 ~n:R') 
5,00,000 8% 

~3q1~~ 10,00,000 11% 

7.5% ~ ~ ~ 1000 cfiT 15,00,000 4.5% 

~ ~fc\:qt) wzro= cfil cfil<liili( 13 ~ ~ 11lR 'ti\ 

~ -jfT ffl t1 ~ ~ ~ ~ ~ ~ ~ 
c-. 

~ 3lTUR ~ ~ ctt ~ ~ ('ff1@ ~ ~mw1 
c-. 

(12) 
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2. (en) ictl'-?ij' qi) cfi1J ~ cfi ~ ~fcNt) lR ~ cfiT ~ 

~~ii ~ ~ 1R flcq~ ch'H~l_?I (6) 

((Cf) X Ltd. 1,60,000 cfi ~qfclf?cla ~ ~ ~ cfiT if<:~ 

tR fcttw cfi{ W t 3ftt ~ 2 cftt cfi 3ffi ~ tRt ~ 
"' 

tl,20,000 t1 "lJ6 4 cfTU cfi ~ ~ cflt tS,20,000 cfiT 

· (foffq 3~"1 ~ 3ftt ~ cflt t3 ,80,000 cfiT ~ 

~, ~ t4,80,000 ~ "RflIB cffi-1t ~ ~ ~ ID<T 

sdrl~1fila ~ ~ ijqia, t1 ~ ~ ~ cflt t9 ,20 ,ooo 

cfiT (j\J1fq 3~"1 ~ ~ ~5 ,80 ,000 cfiT qj(ijqi ~ 

P.T .O . 
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3IB ~ ~ ~ ~ ~1,60 ,ooo ~ a.qa,tc ~ cfi ~ 
if~, ~ ctt ~ ctt ~ 30% i, ~~ctr~-

15% !, 'ffl ~ cfil ~ ~' (12) 

crff 1 2 3 4 
15%tR 
~~~~ 

0.870 0.756 0.658 0.572 

I 

("cfi) ~el ~ °ij ~-~-. ~ ~ ~ 319,~~4 ~ I 

~ cmuT ~ cfil~~ ~ ~ tl~~4 ~ ~ ~ 

ijcfidl t? ( 6) 

(~) Y Ltd. ~ ~ ~ "« ~ ~ ~ i ~ij~ ~3. 

~50,000 ~ ~ ~ ~ 311<U4ctidl t1 ctilq\)c cfil 

~~ 35% i ~~ \@.l~lij ~~fflf fctiuclil 

Jqlf1~1 ~ % I 1!_@.li1t1 ~ ~ 31:1"1~~ ~ ~ ~ 

~~,<~i "ij qi( ~+;{1-1~1\ t : ~ 
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-
?A' 1ft~~tt cftifloq, cfttfloq, cftaftQCJi" 

10% 11% 12°/o 
1. 1 1,000 0.909 0.901 0.893 

2 . 20,000 0.826 0.812 0.797 

3. 18,000 0.751 0.731 0.712 

4. 15,000 0.683 0.659 0.636 

5. 12,000 0.621 0.593 0.567 

(i) ~3JR3JR 

(iii) anf3JR3JR (12) 

(cfi) "~~!II cf1q«) 3lqju ~ ct ~ ~H~ctr cfiT ~ 

a{)cfi1 t"1 q~.i,a GNfc ~ ~ ctN~ 3rcffu fctfu ctr 
C'-. 

P.T.o . 
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t36,oo,ooo 

3,00,000 

tl8,00,000 

15% 

10% 

(ii) cfllT ~ $1Sc:d'1 ~ t? ~ISc:d't ~ 

3ij41d ~ ~ qif ~ cfllT t? 

(iii) ~ ~ ~ ~ 'tl' ~ tl60 ~ ~ f 

(iv) ~ ~41dl"1 ct~~~ cfi"Gf fcttm ~ ~ ? 

( 12) 



h 

1403 
19 

(qi") ~ ~ ~ 1fi1 '1~1cfi"1 m ~ -glf ~ ~ ~ "' 
~ ~ ~ ~ ~ ~ ~ t? . ( 6) 

(~) 30cfi~'1 2cfflc:l~('"ij c(; -qm qd'11"1 ~ 1,00,000 ~ 
~t, ~~ ~~cfi ~ 100 ~ctt~lf{$ll~ 

!1 ~ ~ ~ ~ ~ 3IB ~ 8 ~ ~ ~ ~ "' 

(i) qlt ~ 3@ ~ ~ ~ ~ ~ ~ ~ (i) 

~ fTI~d ~ ~ ~ t, (ii)~ ~~d 

~~t? 

(ii) ~ ~ qIT ~ ~ tl0 ,00 ,000 t ~ 3lqfu ~ 

~ t20,00,000 qIT ~ ~ ~ t, 'ffi' 

m ~fd~' ~ Fcha~ ~ ~ ~ ~ ~ 

(12) 

P .T.O. 
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4_ (111) ~ clil ~ 1fr.c{ <i'i ~ -it - <fit 1miillc1iffi 

-a ~ ~ t? J'1~ ~i'11'1&3U ~ ~ ~~~, 

(6) 

((Cf) X Ltd . ~ 9~'1_1-f ~ ~ cfi) at~~~ ~ ~ ~ 

-df t1 fclcfi~ cf)l fc\q(OI ~ ~ 1fllT ! : 

~ .ftfc!t ll~Jllil A B C 

~ (~) 50,000 56,000 60,000 62,000 

q~a~cr1~~ ~ 
40,000 

(80%) (~) 
44,800 48,000 49,600 

~ ~ (~) 16,000 16,000 16,000 16,000 

JOO"-~ 30 45 60 75 

(Ta;if) 

~~ctt~ 20%!"ffiffl ~ 144>~ ctr~ 

~I 
(12) 
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(i) ~ ~ (~ ~) 

(ii)~~ 

( 3 ><2) 

(~) cri 2023 ~ ~ ~ cfiiAt cfiT 3~1~.:t 5,00,000 

~cfil~lff· cfiT ?.lll ~ 2024 ~ ~ ,1ffi~fu cfiT WfA" ~ 

~~~- 3~~ t1 ~~~~cfiT ~ 

~{ij"~t : 

20% 

~ -im-t' dfl'fdh: 11'{ 3~1~'1 ~ ~ ~ ~ ~ ~ 

~ ~ ~ 't ~ 3~1~'1 m ~ ~ S4RfitU ~ ~ 

t ~~"ijf@Tt~~ 100%~~, 'f..it<!_o ~ 

3ftq{g~~ :Hl~<'1 t1 ~ ~ ~ ~ ~ ~ ~ ~ 

ii ~'1i;l{I° IDU ~~~~~~~cl~ ctf 

dl~<ct it ~ ~ t 3it{ e;.i~1il cfil ~ 1RU ~ ~ 

cti't dl~(q ~ ~ ~ i1 

P .T .O . 
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~ ~ ~ ~ cfit 3fj1t1Pfa ~ u ... <,a, ~1,00,ooo 

t I 'fi:rl~ ~ clflJ cfi !J.lldM ~ dt·~t<lcl 3'TUT ~ cfiT 

t, 

3fJqqil' dilcfiif.f cfidl (~ qil" @l~cfi<) cfi ~ 10% cfiT 

mcfUR~t, (12) 

s. (cf1) ~ w jfk- 3{qfu qil" ~ ~ mer ~ cfi qf<uu.li)· 

lf{ ~ cf>l~~I (6) 

-

("{cf) cfillliilcl ~ dtlq~qcfidl3ff cfi Fcl-alfltSIOI cfi ~ ~ 

· i~chlOTI. lR ~ cfil~~ I ( 6) 

(tr) qf?+.11cl..f ~ ~ ~ a,~4 t? ~ ~ "c=tl- cti14iilcl 

~ dtlcl~qcfidldff cfiT dtlcficl.:t ~ ~ ?:ffl" 'f 6~'i0l ~ 
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LMS Ltd ~i.i~~ct fclct{OI ~ ~ t: (18) 

~l~d ~ 

qjfdfclcfi J~ic;-1 ~ ~ 

qftcn:f~q ~ ~ ~ 

'{;;ft' ~~IIQ.:11 

A 

25% cl; Jmn~tR 
.:, 

' 
~100 * $~all ~w 60% 

~~~ 

1s%d 40% 

~100~ cl; 10% 
NIL 

~~~ 

1,50,000 ~ 

1,00 ,000 {i:fil $Zff 

fl 

to.so 

?38,000 

fl,00,000 

filtil~ ~~ .. , 
B 

40% 

60% 

NIL 

C 

35% 

50% 

15% 

1fFf HlfGI~ ~ 3tlqtfi< ~ ~ 30% t 

(i) ~~c.fi 41Zil'11 ~ ~ qfNl<-1'1◄ 1€1 'ffi'l, ~'rllq ~ ~ 

egcffi 'ffi\l qi'f ~ I 

P.T .O. 
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(ii) <fl\JMI A 3t{ B cfi ~ 3C:i~.:t~ti - ~I 

(iii) Sf~ffi 41\Ji.:tl cf) ~ fcl'rlllf ~- 3m1'l ~I 

~ ~FJI~ ~ cfit.f-~ <fl\11'11 ~ ~'rll'-4 \Ji)f(q'f ~ t? 

(1000) 
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l. (a) Explain the concept of. Holistic Marketing with 

example. How is it different from the Marketing 

Concept? 
(5+5) 

(b) Discuss the implications of current changing 

scenarios in technological and political environment 

on the marketing decisions of a business with 

examples. (4+4) 

OR 

(a) What do you mean by marketing mix? 'Traditional 

marketing mix framework is applicable to both 

tangible and intangible products.' Do you agree? 

Substantiate it with examples. (3+3+3) 

(b) Discuss and analyse the marketing environment 

of a company which is planning to launch a new 

mid-segment electric ~ar in India. (9) 

2. (a) Explain the consumer buying decision process for 

a product, like 'smart phone' . Do these stages 

differ if the product to purchase is a 'pen'? Why? 

(6+3) 
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(b) 'Though · · . · 
positioning is done to the product but 18 

targeted at the prospective consumer mind.' 

Discuss the statement in the Ii ght of the concept 

of product positioning. How is it different then 

market targeting? Explain the various targeting 

strategies with examples. (3+ 3+ 3) 

OR 

(a) Define consumer behaviour. Why is it important 

for a marketer to study consumer behaviour? 

Discuss the psychological factors influencing 

consumer behaviour with examples. (3+3+3) 

(b) What are different bases of segmentation of 

consumer market? Suggest the suitable bases for 

segmentation of market for the following products: 

(i) Millet-based snack 

(ii) Wireless ear-phone (5+2+2) 

3. (a) What is product mix? Explain the concept of length, 

depth, width and consistency of product mix using 

an example of a multi-product company. 

(2+4) 

(b) Discuss the various stages of the new product 

development process. Why does a new product 

fail in the market? (l 0+2) 

P .T.O . 



1405 4 

OR 

(a) Define the concept of a product. Classify and 

differentiate consumer products based on durability 

and shopping efforts. Give examples. (2+6) 

(b) Explain the concept of a Product Life Cycle (PLC) 

with the help of a diagram? What are the various 

strategies used by marketers to prolong the growth 

and maturity stage of PLC? (4+3+3) 

4. ( a) Differentiate between penetration pricing and 

skimming pricing ~trategy. Discuss the suitability 

of these pricing strategies for the following 

products : 

(i) Heal th drink 

(ii) Electric car (4+2+2) 

(b) 'Sal es promotion act as a bridge between 

advertising and personal selling.' Discuss this 

statement in the light of the growing importance 

of Integrated Marketing Communication (IMC). 
(5+5) 

OR 

(a) Discuss the importance of channels of distribution 

in the marketing of goods. Explain the various 

types of agent and merchant middlemen? (6+6) 
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5. 

5 

(b) Differenti t b 
. a e etween push and pull strategy. 

Which st t . 
ra egy ts suitable for which 

products? n· . · 
· tscuss with example. 

Write a short note on any three : 

(a) Rural Marketing 

(b) Digital Marketing 

( c) Marketing logistic decision 

type of 

(6) 

(6+6+6) 

( d) Cost-based vs . Value-based Pricing Method 

( e) Sustainability Marketing 

l {cfi') 3~16{0( ~ ~ 'ijlRJ '1ic6R'41 ~ ~ cti1' ~ 

ct)~~ I ?;ffl' 'lic6R'41 3{qtl(<OII ~ ~ 3R-llT °t? 
(5+5) 

(~) JcmROTI. ~ ~ ~ f4q~I~ i:fi '11cfffe'41 ~ i« dcti4lctl 

~ <1\Ji4llacti qldlq<u, ~ qtl'fl'1 ~ ~ ~ Atga,~ 

1R ~ ct)~~, (4+4) 

~ 

{cfi') 1t1cffR'41 ~ ~ ~ ~ t? q1<qRcti '11clR'41 ~ 

~ lffi ~ 34¥ m;n ~ 11'{ ~ ml t, ~ 3{fq 
C's 

~ t? ~ 3~16<un· ~ ~ S1'1lfula cfilmt({ I 

(3+3+3) 

P.T.O . 
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(~) ~ ~ ~ '1ic6l2·,, qldlq{or w ~ 3ik fcl~~f4or 

~f"Gt(? ~ 'm ~ ~ ~ ~-ij,,~·c ~~~cfi ~ ~ 
cfiB "ctt 4'\JFfl GAT ~ t1 (9) 

' 
2. (qi) '~ffl' ~~~~~~f.%utq~ 

L 

"rtt c4i(oQI <t)f"Gt~ I ~ fflGf '\jfR cm-Jr ~ 't.:f' t, 
'ffi ~ 'ij ~~mt? qiT{Uf ~? (6+3) 

(~) 

1

~H('ttfc¼i ~ cf! ~ 41~~1IW1T <tt ~ t, ~ 
~ ~ ~ 1R ~ ~ !,,·~ ~ 
qi't 3m.TR'Orr ~ ~ ~ ~ ~ 1R W cfil~~I ~ 

~ ~ i ~ 3«-{1T t? ~ ~ 
(3+3+3) 

(qi) ~ cifq51( cfi1" ~ cfil~~ I ~ fclqo1q; ct ~ 
~ c4q51( ~ ~ ~ ~ 'l6~'{af t? 
JC:16(0TI. ~ ~ ~ t4q51( cfi1" ~ <fiB ~ 
'1..flao111~cfi cfil<ffil. 1R W cfil~~ I ( 3 + 3 + 3) 

(~) ~ ~ ct ~ ct ~ 3flUR cflJT t? 
~J..tf<;f~a J~1~· ct ~ ifNfR ct ~ ~ ~ 
3qgcffi ~ ~ ~ ~: (5+2+2) 

(i) ifNm 3mllfffl~ 

(ii) qllf<Mij w-w.r 
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3. (cti") ~ ~ ~ mffl t? ~-~~ct "3~16<UT 

cliT 341-0lf ~ ~ ~P;TUT ~ ~, ., ~ 3fl{ 

~ ctr 3fcmRUTT cfiT ij'fGfll.?°1 (2 + 4 ) 

(~) ~ ~ f4cfil6 ~ ct~~ lR ~ ~mt~I 

~ ~ ~ ~ ~ ~ ~ mJ t? (10+2) 

(cti') ~~ctr 3{qURUJT cfiT ~ ~~~, ~,~~ 311{ 

<ct~~,~ ct ~ cfi" 3ITT.lR 1R ~ 3~1at· cfi1" cttifctid 

~ ~ i:fil~Q I Ji;liHOI ~I ( 2 + 6) 

("{cf) ~ 3Uffl cfiT ij614ctl -a~~~ (q)~<'f~) ~ 

3fqURUJT cfiT ~ ~~QI 'l\Q("f~ ~ f4cfilij ·~ q[{qctqdl 

~ cfiT ~ {c~h~~ cfi" ~ f4qo1cfi ;RT 3q~4I ~ ~ 

cffi-Tt ~ (Oj4)fd41 ~ ~ t? (4+3+3) 

4. (cfi) ffi ~ ~ 3fR ~ ~ {014)fd ct~ && 

ct)~~ I '""'.,;.i~f(qct 3~1<;1. cfi" ~ ·l9f ~ f.mRur 

(Oj4)fd~· 'ctt 34Scffli:fl 1R ~ ~f'Jt~ : ( 4 + 2 + 2) 

(i) ~,~ ~ 

(ii) ~~~cfi cfiR 

P.T.O . 
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(~) '~ ~ fcb114.f ~ ~fch:t4td ~-~ ~ ~ 

<fi' m -if 1ffi ~ ~,' qcia'!i<f f.lqo1;i- Wi!R (IM~ 

-t ~ 1ffl"fq ct1 ~ ~ ~ cfitl.f w ~ ~, 

(s+s) 

(cfi) lf@ ett- 'tlr.6R.41 ~- 14a<o1 ~ ~ ~ w ~ ~
1 

~ m ~ ~ ~ ~1q1{t ~:qlR9ia ~ ~ 

ct)~~ 7 ' ( 6 + 6) 

("~) ~ ~ ~ N4l#T ~ ~ 3IB( rt1mt~1 ~ VcfiR ~ 

J~,cn· ~ ~ ~-~ <01-ilra J4gcffl t? J~,s<o, ~ 1 r 

~ ~ ct)~~, (6) , 

(6+6+6) 

(Tf) 'ftrlR.41 ~ ~ 

(tt) ("fll@-3lTUn@ ~ ~-3'Tmfra ~ ~ ~ 

(1000) 

.,@¢ 
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2. 

3. 

4. 

I. 

~~cfi~~I 

~~cfi~wn;,it 

~~-lf,fcfil'Jm~~~~~~~~,~ 

~ ~ cfiT 1fJtWf ~ it N-1f ~ I 

(a) Briefly explain the role of commercial banks in 

project financing in India. (9) 

(b) Explain the relationship between financial system 

and economic development. (9) 

OR 

(a) Discuss the role of financial institutions and 

financial markets in capital a1location in an 

economy. (9) 

(b) Explain in brief the role of mutual funds in capital 

market development in India. (9) 

(31) ~ ~ qf?~\Jf-11 ~filfltSfOI ~ qlfolfi4cfi ~ cfi'T ~ 

tfil ~ettr ~ ij'f$ml1 

(Gf) ~ ~ ~ ~ fcrcfira ~ ~ ~ ~ 

~I 
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"lfT 

2. (a) Explain the role of RBI in Indian Money Market. 

(9) 

(b) What is FIMMDA? Explain its functions and 

relevance in the Indian money market. (9) 

OR 

(a) What do you understand by the term "Financial 

Integration"? Explain the significance of integration 

of Indian financial markets with global financial 

markets. (9) 

(b) Give an overview of Indian Money Market. 

(9) 

P.T .O. 
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( ar) "fiffil'l 1/'lilifi<UT" ~ it 3ll'l 1llll ~ t? ~ 
fiffil'l ~ cfi mir ~ ~ ~ ~ fficfi{Uf cfi 

~ cfiT ~ cf))NtQI 

(~) ~ ¥T ~ cfiT ~ Rit.HcH-flcfH ~, 

3. Differentiate between (6,6,6) 

(a) Primary and Secondary market 

(b) GDRs and ADRs 

(c) Convertible and Non-Convertible Bonds 

OR 

(a) Briefly explain various methods of raising funds in 

the primary market. (9) 

(b) "SEBI is the watchdog of Indian Capital Market". 

Explain. (9) 
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~9~R¾ tfi ~ ~ i:fi1ru:t~ : 

("ijf) ~3lR 3m ~3lR 

4. (a) "Commercial Banks are the most powerful 

financial intermediaries of any Financial System". 

Explain in the Indian context. (9) 

(b) Discuss the role of MUDRA financing scheme 

for the small-scale business. (9) 

OR 

(a) Discuss the role of the Non-Life Insurance Sector 

in 1 ndia. (9) 

P.T .O . 
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(b) l'Non-Banking Financial Companies h 
ave been 

serving better than commercial b k . 
an s in the 

infrastructure development of Inct· . 
1a since 

independence". Do you agree? Give 
reasons in 

support of your answer. 
(9) 

(31) "qtful~cfi ~ ~ ~ ~ ~ ~ ~ ~ fBt 
~llltf cffi~I 

~~t", ~~~~-, 

(-ar) ~ ~ ~ ciqqijt~ ~ ~ ~ fch1Y11S10T ~ ctr 

~ 1R ~ cti181Q I 
"' 

(~) 

11

~ti'?:fctT ct~~~-~~ cfi'qH~r' ~ ~ 

~P!q,a ~ct~~ q1fu,~cfi ~ ~ ~ ~ ~ 

mu~ m t 11 1 ~ 31N ~ t? ~ '3W ~ ~ 

~'cfiRUT~1 
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(n) What is financial stabilisation? Enumerate 

important indicators of financial Stabilization 

Suggested by IMF or World Bank. (9) 

(b) Discuss the various policy initiatives expected from 

the Fcdcra I Government to overcome the problem 

0 f fi nancia I crisis? (9) 

OR 

(a) Discuss the important causes of financial crisis? 

(9) 

( b) I n case o f ch a 11 en g es to the f i n an c i a I stab i Ii t y i n 

Indian financial system, discuss the policy 

measures taken by RBI for financial stabilization. 

(9) 

(3f} ~ ~ ~ t? J11{q'1qq, ~ fflq ~ 'filTI 

~ ~ ~ ~ ~ '16~'{1lt ~i~act?t· ctT lJURT 

cfi)~q I 

(Gf) ~WR"~~cfil~~~~~~ 

~ ~ ~ ~~4fa W -q-{ ~ cfilfGit.! ? 

P.T .O. 
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1 ~~-~cfi'~tl'~~~~~lf{~ 

3fjsfi'1icfi fH{(4~ I 
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4. w-f~ 5(&) ~lf 3tf.lcti4 i I 

5. "{ij ~ .J'tf.i cfiT '3W ~ ~ ~ ~ ~ 'WU~ ~I ~ 

"ijllf~cfiT~~tt~~ f 

1. (a) "Human Resource Management is. a strategic 
approach, which deals with activities related to 

human resources .·" In the light of this statement, 

explain the nature and function of HRM. (8) 

(b) "Human Resource Manager performs managerial 
as well as operative functions." In the light of this 
statement, discuss the role of Human Resource 
manager? (7) 

Or 

( c) Discuss the factors that affect Human Resource 
Planning? How it is carried out at various levels . 

(8) 

(d) "Job analysis is vital for Human Resource 
Managers and is considered the building block of 
everything that human resource does." In the light 
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of this statement, clearly define and discuss the 

relationship between job analysis, job description, 

and job specification. (7) 

( 3T) "lfAq -~ ~ -qcfi ~,4lt<lcfi <g~cfilOI t, ~ ~ 

~~~~~~t," ~~~ 

3U~cfi ~ lfAq ~ ~ ct'f ~ ~ Vil~ c(i 

cfiTll ct't am:64, rt)ffitq , 

(GT) "lfAq ~ ~ ~ ~ 'ffl?.J - "ijN q ~ I ~..f cfiT4 

'lltfiZffitl " ~~~ 3{Tfficfi~1JRq~~ 

ctr ~ 1l( ~ rt)ffitq ? 
cs 

("ij') ~ ~ ~ cfil' ~ tfiB ~ ctit<i'.hl. 1l( 

~ rtlffitq ? ~ ~ ~ 1l( ~ miq1P:f a M" ~ 

t, 

("G) "cfiTlf ~:H~~o1 1fRq ~ ~ ~ ~ '16~'!_of "t 

~ ~ 1fRq ~ em ~ ~ ~ ~ cfiPr cfiT 3ITTlR 

1'r.IT ~ t I" ~ "cfil.R" ct 3'Tffiefi ~, cfiJ7.l ~~~'401 , ffl 

~ ~ ~ Fclll1csca1 ct ~ ~ qi) ~ ~ ~ 

~ c/i)~C? ~ ~ cti1~ C? I 

P.T .O. 
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2. (a) "Recruitment is defined as an art and science of 
gathering the largest possible pool of prospective 
applicants for an organization." In the light of 
this statement, discuss the various sources of 
recruitment. (8) 

(b) Explain the role of employment test and interview 
in · the· process of employee selection. (7) 

Or 

( c) Is there _any relationship between induction and 
socialization? Explain their benefits to the new 
employee and to the organization . (8) 

. (d) "Better placement minimizes the scope of 
mismatch between the job and employees." Discuss 
the relevance of statement. (7) 

(&) "~ cfiT ~ fl•lo~ cfi ~ ~ 3tl~c;ci)' cfi -
~ ~ ~ cfiT $cfic!_61 ~ ~ ~ ~ ~#11~ cfi 

. ~~ ~ ~ll<U i1" ~ ~cfi ~~ 'fflY 
cfi ~ ffl 1f{ ~ cfil~Q I 

('if) cfi~I~ ~ ~ ~ ~ <1"1•11< ~ ~ ftl&il~R cfiT 
~ ~ cfil~Qt 
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(~) ~ ~ ~ ij'1foilch<0t ~~emf mtu t? ~ ~4i4.,tt 

$ ~~to.:r cfl1' ~ ~ ~I 

(~) "- ~ij~'c: ~ 3ftt cfi4-qtf{tj)' cf1 ~ ~ ctt 

~'Ju~,r ~ th1f cfi«ff t1" ~ ~~ Sftftfrtchat 11'{ ~ 

~mt~, 

3 • (a) "Performance appraisal is not merely for appraisal · 

but -for accomplishme·nt and improvement of 

performance." In the light of this statement, 

explain the concept and objectives of performance 

appraisal 
(8) 

(b) What steps should be taken by an enterprise to 

design an appropriate training programme for its 

employees? 
(7) . 

Or 

( c) Discuss any two traditional methods and · two 

I 

modern methods of performance appraisal in detail_. . 

(8) 

(d) Why there ,is a need to evaluate training 

programmes? Also discuss the benefits are 

provided by evaluation of training and development 

programmes? (7) 

P.T .O . 
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( ar) 

6 

- I 

"mR 11~1cti-1 ~ 11~1cfi-1 ct ~ ·~ t ~ 
~ ~ 

~ ctt Jq<-tfau ~ WiR ct~ ti"~ cfil.1.f" ~ 

~ ~I ~ '1~1cfi'1 ctt ~ ~ ~ ~ 
~ . 

(GJ) ~ ~ cfiT ~ cti~~,RiTI· ct ~ ~ Sell,~ 

cfil4~'1 ~ ~ ~ ~ cfm ~ ~ ~? 

("ij") ·~ i~1cfi'1 ~ ~ m q1<'.qftcti ~ ~ m 
~ ~ ~ fcffifR ~ ~ q!;l~~ I 

(°G) ~ cfil4~m· "cfil 4i~lcfi..f ~ ctl' 3tlq~qcfidl cp;u %? 

fflelUI 3m fctcfiRf cti,4~m· $ 11~1cfi-1 ~ ~ ~ ~ 
~ 

4. (a) "Compensation is the reward to employees for 

. rendering their services · to the organization." 

Discuss. Also discuss the factors that influence 

the compensation policy for wage determination. 

(8) 

(b) "Fringe benefits are adopted hy the organizations 

to meet the legal requirements to safeguard the 

interest of employees." Explain. Are medical 

benefits parts of fringe benefits? (7) 
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Or 

( c) Explain the significance of employee's health. 

What steps an employer can take to safeguard 

and improve the health of his employee's? (8) 

(d) How establishment of grievance committee does 

help the organization to take quick actions? 

Differentiate between open-door and step-ladder 

policy of grievance procedure. (7) 

(ar) "~3flqijff ~ fl'lo.:r cm 3fCAt. ~ ~ ~ ~ ~ 

Cfi'l~rR'4t' cm~ lnR ~ 3H<hl( t1" ~ i:hlfJt1<1 ~ 

i:fil(r.f>l. lR ~ ~ ct)~'< \jfl' ~ f.mRvr ~ ~ ~3'TcraT 

tt cm ~ ~ f I 

(Gf) " i:fi~I~· ~ ~ ~ -ml ~ ~ i:filt.fl ~lq:flfi:fidl3ff 

~ 1Ff ~ ~ ~ tmo4r W 31:r#rt ~ 314.:rN ~ 

t, n ciQl(oQI r.til~'< I ~ filfcfi~q ('fJ\l 3fjt#n ~ ~ 

~7 \:fJ1T f5. 

(~) i:fi'l-qrft ~ ~,fi4 ~ ~ cm ~ "~'<, ~ A41cfffr 

~ i:fi'Nlft cl1 ~lf'4 ~ ~ 3Jk ~ lFl ~ 1-fqf 

~ ~ ttcfidl f? 

P.T.O. 
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(~) ftlct,t'«l ~ ~ ~Nw11 ~ ij•to..:r cfil ~ ~ ~ 
~ ~ ~ ~ i? fttcfil~cl ~ ~ ~--~ ~ 
~-~~ ~~ ~ ~m.~, 

5. (a) Attempt any two of the following: 

(i) Distinguish between Transfer and 
Promotion 

(ii) Distinguish between Potential Appraisal and 
Performance Appraisal 

(iii) Work Life Balance · and Workforce 
Diversity 

(iv) E-HRM and Green fIRM 

(b) Attempt the following Case St.udy: (7) 

Aman Travel and Tours Ltd 

Aman Travel and Tours Ltd. is a major company 
based in India with its operations all over the world .. 
The company has been in the tourism business 
for more than 45 years and attracts the · best 
employees. However, the director of the head 
office· is worried with the annual HR reports that 
depict high employee turnover rate and unmet 
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targets of the ?rganization. Further, the cost of 

recruitment, selection, and training was also quite 

high .. 

It was the right time to take the matter seriously 

before it turns grave. To overcome the situation 

the director summoned the HR manager to present 

a detailed report on the reasons for high employee 

turnover and poor organizational performance. It 

was revealed that the problem lies with 

performance appraisal system. The HR manager 

further e·xplained that the performance appraisal · 

mechanism was not fruitful for the employees in 

terms of their career prospects and it lacks overall 

employee development objectives . 

After pondering enough on the situation, the 

director and the HR manager decided to come 

with new appraisal technique. It was decided to 

design new performance appraisal system where 

· Aman Travel and Tours Ltd. would rely on the 

feedback collected from its employee's working 

across the world . Later, it was observed that there 

was drastic cut in employee turnover rate after 

the implementation of employee suggestions. To 

the director's surprise, the employee and 

organizational performance picked up eventually, 

leading to enhanced profits. 

P.T .O. 
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Based on the case study answer the following 
questions : 

(i) What are the varied uses of performance 

appraisal system for an organization? 

(ii) Does high employee turnover rate have 

something to do with employee's dissatisfaction 

. and the existing performance appraisal 

system? 

(iii) Do you think implementing employee 

suggestions was the sole reason for reduced 

turnover rate? 

(ii) · ~ 4l('lflcfi-1 3ll'{ st~:flt1 4l('lf lcti-1 tfi ~ ~ 

~ 

(iv) f-~~ 3ll'{ 'UR ~~ 



-

3007 11 

3TJR~~~ ~f'leg 

3PA"~ ~ ~ fi.lf.)2s \tRij ~ ~ ~ ~ ~ 

t ~ijc:fiJ 4~ 1ct'1 ~ ~ ~ t, ~ 45 ~ "8 

~ ~ ~ ~ 6Qqijl4 ~ t ~ wfsi}'clo cfi'lillf?lU 

"cfiT 3Ui:filijd cfifflt !1 f'il~, llUR cfillffctq• ~ ~~:filfi 

qlliji:fi ~3lR ft'tncl ~ ~ t -i;1) ~ cfi3fillij c:.\\fflq< 

Gt~ ij410'1 ~ 3n.R ~ "cfiT ~ -w, ~ 3f{-tjqj, 

"' 

\:ffif, ~ 3m ~ ctr "ctrmf ~ ~-~ ~, 

~~f<fi-~~m~, ~~-a-AAcfiT 

~ m ~ t, ~ ~ "CR 'cfiJG! 'tJA" ~ nw A~:1,cfi 

~ ~ cfi~I~ ~ 3m fflJaf ij'i6.:tl~cfi SIC:$1 ~ 

ctii<on· lR ~ ~ ft1q)t ~ ~ ~ nw ~ ~ 
~ q,1" ~I~ 1raT ~ fcfi-~ SIC:.ff..f '!t-=qlcfi.-t 

s.om~ ~ t, lfAq ~ ~ ~ 3lm G@l?U ~ SIC:.ff..f 

'1(4r°cfi-=t ~ cfiatil,R4'1. ~ ~ ~ ctiRil< ~ ~an 
"' 

cf; ~ ~ 3441~ ~ ~ ~ ~ ~ cfi'liflt'I ~cfiiij 

3~:,q\' cfiT 3NTcf t, 

lij' ~ "CR ~ ~ ~ ~ ~, A~:tlcfi ~ 1fl'.:rcr 

~ ~ ~ .ft 4!(41cfi'1 dcfi4'cfi ~ cfiT ~ij("fj 

~ I .ft SIC:.ff.:t 4l(4r°cfi-=t ~ ~'111~'1 ~ cfiT ~ 

P.T .O . 
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~ w:u, ~ 3'lrf ~ ~-~ ~f412s ~ ~ ~ 

ffi" cfi'fil1~Y ~ cfil'fcfit~ ~ ~ ~s~f.fi ·1R -

~I lfTq ~I~ fflT 1lllf fcti cti4-ilt~ ~ ~ cfii4¼q;r 

~ lfTq · cti3Ni~ ~ ~ ~ ~ ctic:1dl !f 1 ~~~,~ 

"cfi1" ~ !3U I &ffit: cfi3Ni~ ~ ~'410'1i~cfi ~ ~ . 

W.1R !3U, fiRm ~Nil ~I 

~ cfra ~ ~ 3TIUR 'q"{ ~A~Rcfd ~ ~ ~ 

~: 

(i) ~ ('Mo'1 ~ ~ Stc:AA 41~ii:fi'1 ~ ~ 

~ Jqql~, ~ f? 

(ii) ~ ~ cfi3Ni~ ~ 'G{ qif cti4=t11~ ~ 
f 

3H'fd1~ ~ 'il'lj_C:i SfC::ff.i \@4icfi'1 SfOII~ ~ ~ ~ 

A-~t? 

(iii) ~ ~ ~ t ~ i:fi4-i11~· ~ ~ cfil 

~ ~ c:.fdncR .G{ cfi1f ~ cfiT ~cfi'fl-i4 cfiRUT 

?.Ir? 

◄ 
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4. ~~-~'rfil"3"W ~~~M~ 'fllTI~~, ~rc.i-=t 
~~rfillfTUf1f~'8TWff~ I 

1. (a) Examine · the significance of marketing in the 
process of persuading and acquiring new 
customers. Provide an example of a corporation 
that achieved substantial expansion because of 
effective customer acquisition strategies? (8) 

(b) Discuss the way political and legal alterations at 
a domestic or global scale can impact marketing 
decisions . Illustrate a case when a corporation 
successfully manages legal obstacles or exploits 
fresh legislation. (7) 

Or 

(a) Examine the influence of technology advancement 
on marketing tactics. Provide an instance of a 
corporation that utilized nascent technologies to 
revolutionize its marketing strategy. (8) 

, 
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(b) How can marketing give a business an edge over 

its competitors? Describe a company that 

used marketing tactics to set itself apart from 

competitors that worked well. (7) 

2. (a) In what ways can age, gender, and income, among 

other demographics, be used to segment a market? 

Give an example of a product that successfuliy 

appeals to a certain group of people. (8) 

(b) What strategies can a corporation employ to 

effectively handle its product mix as it progresses 

through various stages of the product life cycle? 

(7) 

OR 

(a) What roles do psychographic factors, such as 

attitude and way of life, play in market 

segmentation? Give an example of a brand that 

targets a certain psychographic type. (8) 

(b) Discuss the increasing relevance of environmentally 

friendly and sustainable products in product 

mix. 
(7) 

P.T.O . 
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3. (a) Explain how fl°uctuations in market demand affect 

price decisions. Give an example of a corporation 

that employs dynamic pricing depending on demand 

changes. (8) 

(b) What is the impact of discounts and sales 

promotions on consumer behaviour and sales 

growth? Provide an instance of a corporation that 

successfully executed a discount or promotion 

strategy to stimulate sales? (7) 

Or 

(a) Analyse the influence of arranging promotional 
events on the visibility of a business and the level 
of engagement with customers. Provide an instance 
of a corporation that executed a successful 
promotional event. (8) 

(b) Explain how the brand image and positioning of a 
. company influence pricing decisions. (7) 

4. (a) Discuss the benefits and drawbacks of using 
wholesale distribution channels. Give an exampl e 
of a business that relies on wholesalers to reac h 
out to retailers. (8) 
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(b) Discuss the op t .. . por Unthes and problems of retailing 
m rural India. (7) 

Or 

(a) What impact has the rise of e-commerce had on 

distribution strategies? Give an example of a 

corporation that relies heavily on iniernet 

distribution channels. (8) 

(b) Explain the franchise retailing concept in the Indian 

market. · (7) 

5. Explain any of the two : 

(a) Services marketing mix 

(b) Social marketing with example 

( c) Sustainable marketing challenges 

(7.5+7.5) 

( d) Social and cultural factors affecting consumer 

buying decisions 

1 
(cfi) ~~qi)~~~ cfiB ctr~~ fclqo1-1 

cfi ~ ct, ffl~·-cMT ~I ~ F17llf .qif ~ J<;l6(01 

~ ~ ~ ~ ~ 3TIU1W1J <01-i\fain' ~ cfiRUT 

~ fcR:ID{ ~ M? ( a ) 

P.T .O 
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(~) ~ ~ cfiW~~ ~ ~ <U a11c1cfi ~ 1R {I\J1~~cfi ~ 
cfilt-il qf<c1J1 ~ ~ ~qo11 ~ cfiT ~ ctR 
~ f 1 ~ ~ cfiT cJUR 1-fit ~ cfiTf ~ cfil9i~ 
~3U cfiT ~NictaN&cfi ~U.f cfi«fT t "lR ~ cfil.:t.:f cfiT 

. ~ 
~ ~ Joldl t1 (7) 

m 

(cfi) ~qo11 {Oi~kl 1R ~mfllffi) 3"1~ ~ ~ ctr ~~il11 
cfitl ~ ~ f.mlf cfiT Jc!l6{UI ~ "cfil ~ ~ 
'1,ctR·4, <o,~ta ~ ~ 'ctR ~ ~ ~ S4lwfll fcfiqY cfiT 
Jqq)41 ~I 

(8) 
(~) '11clR'41 ~ ciM~l4 cfiT ~ ~ 1R ~ ~ ' ~~t? ~~~cfil~tfit~W 

"cfil ~cfillf~~ ~ ~ 3IB1T~~~ 
'11cfiR'41 {Ol~kl cfiT ~~'ilcl ~I (7) 

2. ('cfi) ~ IJi.:i~ll{dF,h) ~ ~ ~ , ~ ~ 3W;J cfiT 3qq)41 
~~~~qi)~~~~~~ 
~ t? ~ ~ ~ cfiT JC:16{01 ~ ~ ~ ~ 
m:i:- f.t~a ~ "cfil ~'h61ol44&i 6flc:fi~o qi{'ffi "ITTI 
""' ' ~ 

cs 

( 8) (~) ~~~~ ~~~~~ 3lm~ 
11"{~~ ~~~"cfil~ill~~ 
~ ~ cfll., ~ {014'k14i ~ ~ t ? (7) 
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~ 

(~) ~ ~~ ~~cfilur ~ ~~ ~ ~~ait,~cfi 

~ ~ ~ ~ t? ~#fl cfiT JC:15(01 

- ~ ~ f4~i@ +f.il~~,P!efi JrcfiR qi) ~ cfi{ffi 

t, (a) 

(~) ~ ~ ~ lflflq(Uf ~ ~ ~ fecfil&i J~1c;1· qft 

~ ~iijflicfictT 'tJ<' ~ ~I (7) 

3. (cfi) ~~~~"ctt1fm~"J"aR-~~~-cfil 

~ ~ cfiffl t1 ~ ~ ~ cfi1 JGl6<01 ~ Inf 

1111T ~ «IG('flq cfi 3m1R "R ,,fa:fnt't ~ f.ruRur 'ffilJ, qifflT 

ti (a) 

(~) ~ tiFWI< ~ ~ % lR ~ ~ ~ snrttl6'1 

c.fiT ~ ~ ~ t? M ~ 'f.mir c.fiT 3Glf5(01 RR 

'cfit ~ ~ qil snRtrffia cfiB ~ ~ ~ 'lJT ~ 

(Ol~ffi qil ~Nfrfr!l44cfi Rfiq1!;qa ~ °61'? (7) 
"' 

m 

(ctl) M ci!M~ll.l ctr~ ~ ~ ~ ~ ~ ~ "@< 

lR 'Wtm cfil4~'11' ctr oQc:H~T ~ ~ qiT ~:f~qor ~, 

~ ~ ~ qiJ Ji;lf:';{01 ~ ~ ~ ~ ~ ~ 

ctirzi~,. J;loqrfaa ~, (a) 

P.T 0 
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((Cf) ~~~~~ctlits~ ~~ ~ 

~~~~~qi"fflTtl (7) 

4. (cfi) ~ f4a<0, ~ cfil Jqq)~, ~ cfi ~ ~ ctiPlzn· ~ 

~ ~-I ~"ij' c4<'Htll{ <tr JC:16{01 <ft~~ ~ 

~ f4~dl.jff ~ ~ cfi ~ ~ f4~al~ 1R ~ 
t1 (a) 

((Cf) ~ ~ ~ ~ ~ cfi ~ ~ ij'1~13n 1R ~ 

cfitl (7) 

m 

(cfi) f-~ cfi ~ cfil Fcf a<o, <01-il~in· ~ cfl{T ~ ~ 

t? ~ ~ f.:t1Jlf cfil JC:16(01 ~ ~ ~·c:{~C: Fcfd{OI 

( 8) 

((Cf) ~ ~ ~ ~-~l~Jil ~ ~ 3lcfUT(OIT ~ c'41<oQI 

cfitl (7) 

(7.5 + 7.5) 

((Cf) JC:16{01 ~ ijl'11fGtcfi Fcfqo1-1 

(1T) ~ Fcfqo1-1 1~~qj 

(~) ~ ~ ~ ~ ~ cfiB ~ ijl'11fGl4l ~ 

ijl~FA4l cfiRcfl 

(10,000) 

t 
. I. 
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l. ~ ffl -~ ~ ~ -tr "3ilR ~ ~ ~ ~ ~ ~ 

1. (a) Mr. X took a loan of Rs. 2,00,000 on which interest 

IF 

is payable at the rate of 10% per annum. However , 

he wants to start repayment only at the end of 

third year from now. What should be the annu al 

payment if the total loan and interest is to be 

repaid in 6 instalments? ( 5) 

RC ff 
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(b) State giving 
reasons Whether the foll owin g 

statements are true or false 

(i) Profit it is not an operationally feasible 

criteria for financial decision making 

(ii) Payback period is a method of liquidity 

rather than profitability (] 0) 

Or 

(a) Describe briefly the maJor types of financial 

management decisions that a firm makes. (5) 

(b) From the following data calculate 

(i) Operating, Financial and Combined leverage 

(ii) The percentage drop in sales to make the 

earnings per share zero 

P.T.O. 
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EBIT 6000000 

Profit after tax 960000 

Fixed Cost 1500000 

Tax rate 40% 

Preference dividend 240000 

(10) 

2. PQR Limited is considering the purchase of a machine 

to replace an existing machine that has a book value 

of rupees 48000 and can be sold for Rs. 24000. The 

salvage value of the old machine in 4 years is zero 

and it is depreciated on a straight-line basis. The 

proposed machine will perform the same function the 

old machine is performing however improvement in 

technology wil1 enable the firm to reap cash benefits 

before depreciation and taxes of Rs. 120000 per year 

in materials and labour. The new machine has a four­

year life, costs Rs. 250000 and can be sold for an 

7 
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th Year. 
expected rupees 32400 at the end of the four 

The new machine will also require an installation coS
t 

of Rs. 50000 in the beginning and will be depreciated 

on WDV method, the rate being 25% per annum. 

Assuming 40% tax rate, compute cash flows 

associated with the replacement and suggest to the 

•. 

company whether it should go for the replacement or 

not if its cost of capital is 10%. (I SJ 

Or 

XYZ Limited is evaluating a project to install a machine 

system. It estimates that the annual savings from 

mechanization include a reduction of 5 clerical 

employees with annual salaries . of Rs. 30000 each 
' 

Rs. 16000 in material losses during production, and 

Rs. 7000 in other operating costs. The purchase price 

P.T.o. 
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of the system is Rs . 2 lakh and the instaUation costs 

are Rs. 50000. Its useful life is estimated at 5 years. 

These outlays will be depreciated on a straight-line 

basis to Rs. 20,000 book salvage va_lue. Though its 

market value at the end of 5 years wi11 be zero. 

Operation of the new system requires the services of 

two trained operators at an annual salary of Rs. 42000 

per person. Also, annual maintenance and operating 

cash expenses of Rs. 8000 are estimated to be 

required. The company's tax rate is 40% and its ROR 

( cost of capital) for this project is 12%. You are 

required to calculate the project 's payback period and 

NPV and suggest to the company whether it should 

purchase the system? (15) 

3. (a) Explain the behaviour of cost of debt, cost of equity 

and overall cost of capital under the traditi onal 
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· al 
approach to capital structure. Js there an optim 

capital structure as per this approach? (S) 

(b) XYZ Ltd. is evaluating two financing plans. 

Assuming a 50% tax rate and an expected EBIT 
. . 

of Rs. 600000, determine from the data given below 

(i) The EPS for each plan, 

(ii) The financial break even points for each 

plan, 

(iii) At what ]eve] of EBIT would the company 

be indifferent. to which of these two plans 

is selected. (] 0) 

Plan A Plan B 

Bonds Rs 80000 at 10% Rs 150000 at I 0% 

I 0% Preference 8000 shares of 4000 shares of 

stock Rs30 Rs 40 each 
-

Common stocks 20000 shares 24000 shares 
-

P.T.Q 



3010 8 

Or 

ABC Ltd has the following book value capital structure 

Rs in lakhs 

Equity capital (in shares of Rs IO each fully paid up 20 
at par) 

Retained earnings JO 

12% preference capital (in shares Rs I 00 each fully 5 
paid up at par) 

I 0% debentures ( of Rs 1 00 each) 10 

11 % term loans 5 
' 

The next expected dividend on shares is Rs. 4 per 

share, the dividend per share is expected to grow at 

the rate of 8%. The market price per share is Rs . 40. 

Preference stock redeemable after 10 years is 

currently selling at Rs. 75 per share. Debentures 

redeemable after 6 years are selling at Rs. 80 per 

debenture. Income tax rate for the company is 40%. 

Compute the weighted average cost of capital using 

book value proportions. (15) 
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4. (a) Companies U and Lare identical in every respect 

except that U is unlevered while L bas 

Rs. 10,00,000 of 8% debt. EBJT of both firms is 

· Rs . 6,00 ,000 and tax rate is 35 %. Equity 

capitalisation rate for U is I 0%. Calculate the 

cost of equity and value of each firm according to 

MM approach. (5) 

(b) XYZ Limited was started a yea,r ago with a paid­

up equity capital of rupees 20 lakh . The other 

details are as under : 

Earnings of the company Rs 200000 

Dividend paid Rs 160000 

Price earnings ratio 12.5 

Number of shares 40000 

P.T.O. 
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Find the market price of a share of the company 

at this payout ratio using waiter's model. Is the 

company's dividend payout ratio optimum as per 

waiter ' s model? Why? (10) 

Or 

(a) What 1s 'informational content' of dividend 

payment? explain how it affects the share value. 

(5) 

(b) As per MM approach the payment of dividend 

does not affect the value of the firm . Use the 

data below to prove this statement. 

Number of outstanding shares 20000 
. 

Earning per share 10 

PIE ratio 10 

Ke 0.10 

Expected dividend per share 5 

New Investments 400000 

( 10) 

, 
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5. 'l'hl· cosl shcu l of' l'()P l ,1,1. · I 1·oJlow1·ng 
' '- fHov,dcs t 1c 

d11111 : 

Pnr1iculo 11; 

Rnw Mntcrinl 

Di reel I .uhour 

Overheads 

Total Cost 

Profits 

Selling Price 

Co111 per Unit (Rs,) _ 
-- -

';() 

10 

20 
I (JO 

20 
120 

Average amount or backup stock ,s: 

Raw materials two months 

Work in progress (50% complete) half month 

Finished goods one month 

Credit a1Jowed by suppliers: one month; credit allowed 

to debtors: two months. Average time lag in payment 

of wages: 15 days; average time Jag in payment of 

overheads : one month. 40% of the sales are on cash 

basis. Cash balance expected to be Rs. 2,00,000. 

You are required to prepare a statement of the 

working capital needed to finance a leve] of the activity 

P .T.O . 
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of 84 ,000 units of output. Add I 5% to your computed 

estimate to allow for contingency. Production is carried 

on evenly throughout the year and wa ges and 

overheads accrue similarly. State your assumptions, if 

any, clearly. ( 15) 

Or 

(a) Explain in brief the non-synchronization cash flows 

and short cost as factors in determining the cash 

needs of a firm . (5) 

(b) A firm has annual credit sales of Rs. 1500000. It 

grants 2 months credit to its customer with no 

cash discount facility. It intends to offer a discount 

of '2110 net 60'. It is expected that this will reduce 

the average collection period to one month and 

50% of the customers (in value) will take 

advantage of this benefit. The selling price ts 

Rs. IO while the average cost per unit comes to 

Rs. 8.6. You are required to advice the firm 

regarding this new scheme presuming that th e 

required return on investment is 25 ~o and one 

month is of 30 days . ( I 0) 
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1. (3l) ~ Vcffi ~ 2,00 ,000 ~ cfiT ~ ~ ~ ~ ~ 
I 

~ 10% ctt ~ ~ ~ ~ ~ t1 6IH~, clW 3'il' ~ 

~~ct 3IB~tt~~qil ~ ~~ 

~ti~~~~~ 6 ~~ ~cfillll ~ 

t, m qj~cfi ~ ~ ~ ~? (s) 

(i) ~~~°AA~ m ~ qf<~IH-1 ~ ~ 

ciqq614 ~ ~ t, 

(ii)~ 3fqfu~~~~ctt~~ 

t, (10) 

(3f) ~~~amm~q@~~~~ 

<tr M ~ ci41<ci41 cfi)RfQ I ( 5 ) 

P.T .O . 
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(i) 4~1&H , ~ ~ ~ 3-f0c1'1, 

(10) 

~~ 6000000 

~t~cmf 960000 
( 

~~1a1n 1500000 

I 

~tr~ 40% 

cRl«<TT~r 240000 
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2. ~3m: R,)fil2g ~ ~ cm ~ ~ ~ ~ 3ftr ~ 

{q{l~~ ~ fcttm: ~ ffl t ~ ~ ~ (~ ~) 

48000 ~ t ~ ~ 24000 ~ ~ tm ~ ~ ti 4 
' 

"lffi ~ ~ ~ w t, 61(1~ ~wfrlct1 ~ WiR cfiB ~ 

'lilt 'l~t51~ ~ ~ ~ ~ ~ ctiB ~ 1f@ ~ PJ1f ~ 
"' 

~ cfiT llflq-1cfil<:"l ~ ~ t , ~ ~ 250000 -m °t 

~ ~ 3R1JR" t ~ ~ ~ ~ 3@ ~ ~ cfil 32400 
-.::, 

ctt ~ 40% ~~I~ °ij w. ~ Wff6 ~ ~ 

~m'tltt~cm~~~~~~~ 
"' 

MTlIB 10% t, ~ ~ ~ ~ ~ ~ ~ <lT .,gy, 

( 15) 

P.T .O. 
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~ 30000 ~ ~ ~ qA s fc:tMct, ct,4~1fh?1 cf. ~ 
I 

3~1~-1 cfi ~ 16000 ~ cf. +ITM cfil 3ITT 3Flf 4~1M-i ffimf 

~ 7000 ~ cfil ~ "WITI ~ cfiT ~ ~ 2 C1Rq ~ 

°t ~ ~ ~ "RJl@ 50000 ~ t i ~ 3tj'f1Ptrl Jql(f,~ 

~ s ~ t1 ~ qf«zll~', cfil ~u-mu 3JltTR ll( 20,000 

cfi ~ ffl a:rfcffi 42000 ~ cfi ~ ~ ~ ~ -mmera 

ji'fq)c:{f cfiT ff3TI ~ ji(cf~4c.fictl °ti mif ft 8000 ~ ~ 

~ HcfHcflcf ~ 4R~IM'1 ;rcg ffi 5H cfiT ~ -g I ~ 

cfiT ~ cfiT ~ 40 % t ~ ~ qf<lJ11J1-il ~ ~ ~ 3JR3n3JR 

iii;! 



3010 17 

3. ( 3f) ~ fH~-11 ~ q1<'qf?cti i~cfilOJ ~ ~ ~ ctt Mfl@, 

~f<M[l rtl ~ ~ ~ ~ "ijlllJ MJ1@ ~ ~cUH{ ctt 
"' 

~ fH~-11 °t? 

(if) ~cfflqt{Jti; fi.'f ~2s m ~+i~f40f ~3fl q;'f 'i~r'cfl"i cf){ 

~ ti 50% cfl{ ~ G{ 3ftr 600000 m ~ 3fj'11~a 

(i) ~~~~~, 

P.T.O. 
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(iii) ~31Tffi ~ ~ "@{ 1l( ~ ~ ~ fcfi 

~qi)~~~~~~ cfil~cfi{;{J 

~? ( 15) 

m;;r;rr A ~B 

ilTs 10% ~ ~ tR' 10% ~~tR" 

80000 ~ 150000 ~-

' 
10%~ 30 ~ t 8000 40~~t 

RTcfi ~rm- 4000 ~nl"{ 

3ml ~AA 20000 ~~ 24000 ~AA 

~- (iTT'« ~ ' 
~t,fr(10M~~l'lRl'~.~~cfi)-~ 20 

~ ~ ~ q-{ a-i•1(11crt fct;m ~ t) 
~ 3ITT:r (Retained earnings) 10 --
12% ~ t,fr (~)mt ~ 100 ~ ~ cfi)- 5 

~ ~ ~ ~ G"{ ~ fct;m ~ t) 
10% ~ (~ 100 ~ cfil) 10 __ 

11%m~ 5 

◄ 
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~1R3{1ffif~~4~~~t,~~ 

~ 8% ctr~ -a~ ctr~ t, ~ ~ ~ ~ 

40 ~ t1 10 ~ GflG ~ ~ ~ ~ ~ frliHtfR 

75 ~ ~ ~ cfi 'qfq 1R ~ "{ITT t, 6 "ij@ ~ ~ ~ 

~ ~ ~ 80 ~ ~ ~ tR ~ ~ t, ~ ~ 

~ctt~~"Rll@ctTTfURTt)~~I (15) cs 

4_ ( ar) cfi-4~'-11 1!_ ~ ~ 'ITT" ~ ~ ~ ~ t, ~ ~ 

fct 'lJ 1R m ~ ~ t ~ ~ ~ a % cfiT 
cs 

10 ,00 ,000 ~ cfiT ~ t, ~ "CJi1TT ctr ~;mffl 

~ t ~ tcm ctr ~ 35 % i, ~ ~ m 6 ,00 ,000 <)'-t~ 

~fctqc!) iJncfi{OI ~ 10 % ti ~ ifiscf.hlUf ~ ~ 

~ ~ ~ ~fc¼q{l ctr ~ ~ .~ ctr 1lURT 

( 5) 

P.T.O. 
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(GJ) ~cHMl{Jls ~f42s- qi) ~ ~ ~ 20 ~ ~ cfil 

~ ~fctqt) ~-"1~~fcfi"lff WU ~I~~ 

~~ Jmr Rs 200000 

m3ffiftfir~ Rs 160000 
.) 

~ 3ITTf ~ 12.5 

~'tmt~~ 40000 

(10) 

◄ 
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(3f) m\lm ~ ctt ·~~.,i~ ~ , ~ t? ~lfstl~ ~ 

~~~qi)~~~ t, (s) 

("GT) ~ ~~cfi10I "ct ~ ~ cfi1 ~ 1JilT ~ ~ 

qi) ~ ~ ~ t, ~ ~ qi) ~ ~ 

(10) 

~~~~~ 20000 

~~AA~ 10 

P/E ~ 10 

Ke 0.10 

~~'mr~~r 5 

;w f.tcnr 400000 

5. llfcflrMR f<;t fif 2 :s cfil ~ W- ~ f.11-ri ~ ffc.frf W J q Mcill °t : 
c-. 

P.T .O. 
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-~ ~~~(~.) 

~~ 50 
-
~~ 30 
-
JiTcH~~~ 20 

~ci{11ln 100 
:, 

mN 20 

~~ 120 
I\ 

ctittIT~ ~~ 
' 

m ~ ~ (50% ~ 3nm$ 

~~ ~$ 

3TI•tJ~htial~ gro ~ "3UR: ~ 'itl-11£1 ~ cti1 ~ 

~ m ~I •fot<t~ cfi \j~la1'1 ~ ~ ~ ~: 15 ffl;:r 
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a{)q{g~~ ~ ~◄ldH ~ ~ .nm . 
"'l<-t ~ : ~ ~I ~ cfiT 

40% ~ 3fTUR lR °ti dij'flf.@ ~ ~ ,.Q. ~ 
~11-ll 2 ,00 ,000 

t, 

3~-fi<H cfiT 84 ,000 ~cfil~4Y ~ ◄IRtfclfu ~ ~ ~ fcfii ,nm 

csldl~~I 
(15) · 

(ar) ~~ct}~ 3{1q~~cfiffi3IT ~ ~ ~ ~ 

ctiRchl. ~ m ~ '*-ffl~-11~;;)~1-1 ~ llffi, ~ 'wt 

( 5) 

P.T .O. 
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(Gf) ~~~qi~~ "J"UR ~ 1500000 ~ti~ ~ 

~qil~~~~~cfi2~~"3UR 

~ t1 ~ lOO '2/10 ~ 60
1 ~ m: ~ ~ t1 

C'\ 

~ ~ ~ ~ t ~ ~ ~ cfi~c»l-1 ~ ~ 

~ ~ 'qil ~ ~ ~ 50% cfifc ... ~ (~ ~) ~ 

25% t ~ ~ ~ 30 ~ 'cfiT t, (10) 

(10,000) 
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4. ~~-~~~~m~~~'TI'fi1T~~,~14i;:, 

. ~~~1f(Upf~~~~ I 

1. (a) Define Organisational behaviour. Explain its 

various determinants. 

(b) "Supportive Model of Organisational Behaviour is 
the best in all situations. '' Comment. 

OR 

(c) ··QB is relatively a young field of study that 
borrows many concepts and methods from the 
behavioural and social Sciences." Elaborate. 

(d) Discuss the challenges & opportunities of 
Organisational Behaviour in the present-day post 
covid environment. 

2. (a) Explain the personality traits that have relevance 
from the point of view of Organisational 

Behaviour. 

(b) Describe the components of 'attitudes' and discuss 
its sources of formation. 

OR 

( c) What is operant conditioning? How is it different 
from classical conditioning? 

( d) What do you mean by the term 'perception'-? What 

are the factors influencing perception? 

3. (a) Critically examine McGregor's Theory X and 
Theory Y of motivation. 
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(b) "It 1s feedback that completes the process of 

communication". Comment. 

OR 

( c) What are the common barriers to communication 

in an organisation? How can they be overcome? 

(d) Discuss various quadrants of JOHARI window. 

4. (a) "Informal groups formed in an organisation are 

not necessarily bad" . Do you agree? Justify. 

(b) Write a note on the 'Managerial Grid' Leadership 

Theory as given by Blake & Mouton. 

OR 

(c) "High group cohesiveness leads to high 

productivity. " Do you agree? Discuss. 

( d) Differentiate between Transformational leadership 

and Transactional Leadership. · 

/ 5. ( a) Discuss the functional and dysfunctional aspects 

of conflicts in organisations. 

(b) Explain the concept of organisational culture. How · 

should a good organisational culture be developed 

and maintained for efficient working of the 

organization? 

OR 

P.T.o. 

i @i 
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( c) "Prevention & Management of Stress is the need 

of the hour for the successful functioning of 

the modern organi sa ti on." Describe various 

strategies commonly adopted by the individuals and 

organisations to deal with it. 

( d) Mr. Rosh an is the supervisor of the 25 unskilled 

workers unit working in an aluminium wire 

manufacturing firm. To reduce costs, the 

management decided to install mechanized 

materials-handling equipment. Since the workers 

lacked training and knowledge about the 

productivity and cost reduction effects of this 

equipment, the supervisor had to work a lot to 

introduce the change by involving all of them in it. 

Ultimately, the new equipment was installed with 

the active cooperation of his workers. 

After a few months, considering Mr. Roshan's 

success, he was asked to install a sophisticated 

quality control equipment in another department 

among a group of technical workers. Since this 

group consisted of educated employees, who are 

in a better ·position to understand the company's 

problems, he expected . little opposition to the 

proposed change. Accordingly, unlike last time, he 

did not make much effort before introducing the 

new equipment. Contrary to his expectations, the 

group resisted tooth and nail the introduction of 

the new system until it was given up. However, 

the mistake proved to be very costly to Mr. Roshan. 

He lost his job. 
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Questions : 

(i) How do you l • 
exp am the behaviour of the 

two groups in accepting or rejecting the 

change contemplated by the management? 

(4) 

(ii) What should have been done · by the 

supervisor to avoid resistance by . the 

technical group of work~rs to the proposed 

change? (3 .5) 

l. (cfi') ij,lo-1lfltcfi dfi:4,m, 'cfi1' ~ c:fil~~ I ~ ~ 

~ cfiT ~ c:filrutQ I 

(~) "ij410'11flfcfi dfi:461< cfil ij5ll.(cfi ~ M ~ ~ ~ 

~ t," QUfdn c:filrutQ1 

3n1'aT 

("1T) "~ ~ "cfiT 3N~ ~ ~ er-.i ! \jff dlqt51( 

~ ~l'fl~cfi fcl.111-1 ~ ~ 3{qURUJT3lf ~ ~ cfiT . 

"3UR ~ ti" fclfdR ~ ~ c:fil~(?I 

(~) ci)fcls ~ ~ ~ qd'fi'1 lflgl<"f ~ ij416'11flicfi dfi:461( ch't 

~.fl~~- ~ ~ -q{ ~ i:f>l~(? I 

(cti) ~"16'11flf cfi dfi:4,m, ct1 ~ ~ Sflijfrlcfi dffcffi~ ~ cfif 

SQl@.IJ cfil~~ I 

P.T .O . 
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(~) ,~, 1t ~ ?fi1 ~ ?tlmti< 3fR wt f4'fflJJ ~ 

tf@T lR wm cttm.~1 
.. 

3lWT 

(ll) dl1c«f2·•1 cfi'kh1~·•r 1fqf ~ ! 7 ~ ctct,fff cfict cfi·t1~1f.l·,, 

~ ~ 3«-f1T t? 

('~) 
1
URUJT

1 ~ ~ 3IBJ ~ ij'f§ld ~? URUll qi)~~ 

q8'~qiWfit? 

3. (cfi) W11lr ~ ~cfi~•I< ~ ~ X ~ Rra@ Y cfil 3il~"11f'tcfi 

~ ctl81Q1 

(~) 
11

"lffl" S4~Ubl.U t \ilT ~ cfiT ~ cfit ~ ~ t"1 

f214tJn ctlfGIQ I 

31Wcff 

(ll) ~ fl'l6'1 ~ "WilR ~ ~ ijl'fl...q ~ ~ t? ~ 
~ ~ ~ ~ "ijcfi"ffi t? 

('q) ~ fr@ ~ ~ ~ "q'{ wm «tlfGIQI 

4. · (cfi) II~ f1'16'1 ~ ~ 3t-=t1q~,R<ti ~ 3tlq~~i:fi ~ t 
~ ~ tt "ITT"I qlff 3iJtr ffl ~ t? ~ cti1FGIQ1 
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(lT) ,,~ ~ . ~ 

,, -~v tfll ~ ~Hic@ffl ~ J~ii;i:fidl cfft 31R ~ 111m1 

t, 'tfllT 3fftf ~ t? ~ cti'lfJl(?1 

(ti) ' qf?qJ..ir.fi,~ ~ 3m Wf-~ ~ ~ ~ 3RR ~ 

cfilrut(? I 

s. ("r.fi') tMo.fl· ~ ~ ~ cfi lqlf'fcfi ~ ,1~q1:11h1 ~JU 'CJ( 

~ cti') fJI(? I 

(~) fi'l6~1f'tcfi • ~ 3fcfURUlT 'cfil ~ cti'lfflt~ I ff416..f 

~ ~ cfil'ii:fifot ~ ~ ~ ~ ff 'lo~lf'lcfi ffff Jd 

~ f4cfi~d ~ ~ ~ ~ ~? 

3ra'aJ 

(1T) "~ ff'l6~ ~ ~ cfil'icfillJi ~ ~ ~ "ctt 

{)cfii41'1 3ftt ~ ~ ~ 3flct~qcfia, t, ,, m- Aqc~ 

~ ~ oqfcMz4). ~ fMo--0· ~ 3fl'fal< lit ~ ~ 

~ ~ (014lRl4)' qiT cf'1R ctlmt~ I 

(-q) ~ ~ ~~'l)~q'f "aR ~ ~ ~ cf)JlJ ~ ~ 

25 3fcfi~i(1 ~ ~ ~ ~elcfi t, "Rl1IB cfi) ~ 
...:, ' 

~ ~ ~ , ~ ~ 11in4l~a m'ftt- ~-~fi.llf '3Gcfi(Of 

~ ~ cJiT ~ ~I ~ ~ cfi) ~ "J°Gcfi(Of 

<tl 3~1C:cfidl ~ Ml'1@ ~ ri ~ ~ ~ ~ ~ m,J$Uf 

P.T.Q 
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aft-{ m;f cti't ~ ~I ~ijfft(? ~ 1fil ~ ~ ~ 

. ~ ,i,~ft cfiW -qf(qij.i ,cfil ~ ~ "t ~ ~ cfiPJ 

~ ·~I &ml:, ~ cfil'f4ll{I ~ ~ ~61.illf ~ ~ 

Jqcfi(OI ~lfilct cfR ~ 1WI 

~ ~ ~ GfTG, ,jt mR cti't ijflictctl 1fil ~ ~I 

~ ctcfi~ctl ~ ~ ~ ~ ~ ~ ~ fcNm ~ 

~ q(½a ~Olqffr ~ti~o, 3qcfi(OI t¥-flfilct ~ ~ ~ 

cfioT WUI ~ ~ ~ ~ ~ cfi4f=q1~ ~ll~ct ~, ~ 

~ cti't ij'f~IJU 'cfil ij'f~~ ~ ~ ~ ~ ~ !, 

~ijfff Q 3"'61·~ SH~lf4ct qf<qJ-1 ~ ~ ~ fclmJ rtt 

J~~ ctl1 d~jijl<, fQ0Jt GfR ~ f4q~a, 3~1·~ ~ 

3qcfi<on· cfil ~ ~ ~ ~ ~ ~ ~ fcn7.rr1 

J-1ctil 3~~- ~ f4q~a, ~ ~ ~ scu11Jt ~ ~3ffif 

qif~'dcfi"fctiru~ \jfGfocfi'fcfi°~~~~ 

llml 61ctlfc¼i, ~ 1TT-@l PfITT mR' cfil ~ ~ ~ 

st1~~~1fqf~I 

~: 

(i) ~ ID'<T ~ fcm ~ qi{qtl-1 -cfi) (4lcfil( 'llT 

~~cfil( cfiR ~ 3{Jl:f m-~ ~ 04q51( ~ ~ 
"' 

~ ~? ----..-lrt-:t-t (4) 

(ii) sc~1'4a qf{qtl-1 ~ ~ ~ ~ acfi-ilclil ~ 

wMffilU~~~~~~cflri~ 

~ ~ m? . (3.5) 

(1000) 
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2. 

3. 

4. 

l. 

mi\~~~~ I 

1N\ ~ ~ 3fcfi ~ t I 

W1AH-~cfil~ ~-qr~~~~~~, ~14i.:t 
~ ~ cfiT 1ITTWf ~ "tt ~ ~ I 

(a) "Adverti sing is an imperative economic function 
in modern business". Discuss the objecti ves and 
utility of advertising from the 'marketer 's and 
consumers point of view. (8 ) 

(b) Write short notes on the following : 

(i) Surrogate Advertising 

(ii) Social Advertising (7) 

OR 

(a) What is advertising budget? Discuss the variou~ 
methods ·of setting an effecti ve adverti sing budge t. 

(8) 

(b) Discuss th e AIDA model or mark e tin g 
communication . ( 7 ) 
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2. 

3 

(a) What 1s med· . 

fl' h . Ia scheduling? How are continuity, 

tg ting and . . 

h 
PUising important in detennining media 

sc edule? · (8) 

(b) Discuss the 
factors affecting the choice of an 

appropriate ct· . . . 
me 1um for advert1smg. Ment10n the 

products for which television is the best medium 

for advertising. (7) 

OR 

(a) What is an advertising copy? Explain the various 

types of advertising copies. (8) 

(b) One of the advertisers most imperative creative 

strategy decision involves the choice of an 

appr~priate appeal. Explain the following appeals 

giving suitable examples : 

(i) Fear appeal 

(ii) Humor appeal (7) 

3. (a) What do you mean by post-testing of an 

advertisement copy? Discuss the various meth~ds 

for post-testing of an advertisement copy. (B) 

P.T .O . 
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(b) Discuss the various types of advertising agency. 

What are the various functions of an advertising 

agency. (7) 

OR 

(a) Discuss the vanous pre-testi11g techniques 

available to a marketing manager to test the 

effectiveness of the advertisement? (8) 

(b) Discuss the legal framework of advertising in India 
. 

and mention the role of ASCI in self regulation. 

(7) 

4. (a) Define personal selling? Explain its significance 

to the manufacturers, customers and society . . 
(8) 

(b) Write short notes on : (7) 

(i) characteristics of a good salesman 

(ii) salesperson are born, not made 

OR 

(a) Distinguish between personal sellin g and 

salesmanship. (8) 
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5 

(b) Advert· · . 
1sing and personal selling are two competmg 

me!bods of promotion. Discuss. (7) 

(a) Explain the AIDAS model of personal se1ling. 

What are its limitations? (8) 

(b) Discuss the Buying - Formula theory of selling. 

Why is the theory also called the situation response 

theory? 
(7) 

OR 

(a) What is prospecting? Explain the methods of 

identifying prospects in the personal selling. 

(8) 

\ 

(b) Write short notes on : (7) 

(i) Order book 

(ii) Sales manual 

(cti) "~ 64qijll4 ~ ~'1114'1 ~ 3fAql4 ~ ~ 

t 11
1 ~qo1q; ~ ~an cfi" ~~cilor "ij' ~.tijq.; ~ 

~ ~ J _q41flla1 w w . cti1mr~, (8) 

P. T.O. 
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-~ f2 ift~ (°(q) foiJ..tRtf<qa- ~ U-tU '"II\~~ : 

(i) ij(l~c fctii,q;; · 

(ii) ~ rcw,q., 
(7) 

(ll) ~~14.=f GNfc ~ 6Tffi t? ~~~~Nii~ 
~ ~ ~ ~ ct~cfil- 1R ~ cfil~~, (8) 

. . 
~<d<dl , 4·~-W~l°c"◄ t ~ q~◄I ~ ◄t6~'itq ~? (8) 

(~) ~~lqPi ~ ~ JqY,cffi -~ ~ ~ cfil ~ ~ 

~ cfil<cfil. 1R ~ cfi)~(? I ~ 3~:11J\' cfil 3~{ct ct)~~ · 

mtP1~ ~ 2~ftj\J1P1 fcb11q~ M 3lml ~ t, 
(7) 

(1f) ~~1q;r ~ ~ ~ i? ~ W;W <tt fcMiif.i q;1fqQ) 

· tfil ~ cfilmt(t1 (a) 
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(tt) ~3ir ~ "ij" ~ ~ '11Aqr4 <i4➔if'f cfi (Or4lffi 

f.Mq ~ ~ ~ cfiT fctcfi?l .~ t, J4gcffi 3<;16(U! 

~ ~ ~ fBRcfrf ~ ~ a.ma.,, cfitfflit?r 

(i) 'l?f ~(qlcfi< ct)- 1ft ~ 

(ii) ~ ~ 
(7) 

3. ("cti") ffl~iq.,- cJil1fi ctl" ~- 2t?e·4, "ij" 3fftf• cflU ~M$1d f 7 

ffl~rq.; cJil1fi rt ~ rt GfTc:" ctt ~ ~ w ~ 

if>l~(?'I 
( 8) 

("(cf) ~ WfiR ct)- Fch·114➔ ~ ~ ifil ~ ~ chlffllt? I ~ 

'4~14., ~ ~ ~ 'cfiT4 cflU ~ f? (7) 

(1T) fct.nl4'1 ct)- >Jlilcl~("kff cfiT ~ ~ ~ ~ fclqur.f 

~ ~ ~ J4ctisU ~ ~-2f?e·,, t=tcti4lq,l w ~ 

cfilffli<?? 
(8) 

(tt) -~ ~- f4.nl4'1 rt cfilt4l ~ lR ~ - cfi)~q ~ 

~ - fflAl4'f'1 ~ (?(?"161'11T{ ~ ~ cfiT d~(q cfil~Q 1 

(7) 

4. (ct>) a1fcffi,1a-~ qi)-~ cfit~t?? A'ttar'1ir, 11i6lf>T ~ 

~~~~~qi)~ if>l~QI (8) 

P.T.O. 
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(~) ~wifftf{qa ~ ~ f2ll.fdn ~~'-? : ( 1) 

( i) '(?cfi ~ fct~a, ctr Fcl~~a,~ 

(ii) Fcl~a, ~ ~ t, ~ ~ t 

(7) 

~ 
5. (cfl) ~ ~ ~ ~Jit{~QQ~ ~ cfiT ~ct)~~,~ ~ 

~~t? (a) 

(~) mq ~ ~-~ lfi4ia ·r« ~ ctl~Q1 ffi41a ctrr ~ 
!A~Uh41 ffi4ia ~ ~ ~ 7jf@l t? (1) 

(cfl) ~1~Fctc:'~1 ~ -mt t? ~ ~ ~ ~3U ~ q5~f'1 

~ ~ ~ cfiT ~ ~~~I (8) 

('fcf) ~wi~f(cM "CR ~ fea:tcJ~ ~~~ : . ( 7 ) 

(i) ~ ~ 

(ii) ~ ~ 

(1000) 
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